Mean Spectrum

2
—

fa (1077 erg em™2s7'47")
1

BLR
o
NLR
L
2000 3000 4000 5000
A (&) z = 0.99518
RMS Spectrum
rm480 BLR 12040 NLR 900 km/s
0 gt 4 oo Lok
n
—~ raw
=
|
NVJ
- -~
E
15
o RMSx
©
~ o model
b ©
Z BLR
“_v<
HB
o .

3000
A (R) z = 0.99518

x(\t) =
X*/(413190-5212)=0.996=>1.007

( Data — Model ACgB,F ) / o X

Qo
@
o
5 0
5 -
0 ©
E
3
(=]
Eo °
ET
[*]
'3
o -
m 1
o
o~

-2

3000

A (&) z = 0.99518

u = 0.016(20) x = 0.959(83) => 0.959(83)

med(mad)
T T T I T T _I I T |l

- vt hll (B |
x 1]
N Iﬂ“mm"""f"*'m"r SRV
ol -
o P Lem o
1. I 1 1 1 1 I 1 1 1 I III.I I IIIlIlI.;IIIII Illil
2000 3000 4000 5000_

A (R) z = 0.99518

& and x
0.5

Continuum Lightcurve
med(mad)%

c5
L LA | T]
Ac(3054-l) 0.3(10. 6)% S/N 46
1S
N
T, 0
23
o 3
1 -
£
; I3
S 4
& ° 2
[
e
< :
o T
o
T \ !
2I345IK \ . 3954:& ) 8
7500 8000 9000!
MJD — 2450000
BLR Lightcurve
rm480
o[T "~ 7T "~ "~ " 1 """ 1T v v 1 T

S/N BLR —0.35 H8 —1.6 Mgl 18

N N - N
7500 8000 8500

MJD — 2450000

N -
7000

Phot Corrections
rm480 med(mad)%
PN L R A A L A AL B AL B |
- Ap 100.00(79)% S/N —9.1
Prior(Ap) 5.0 %

7500 8000 8500 9000

7000
MJD — 2450000
4 = 0.0189(80) x = 0.954(33) => 0.954(33)
rm480 med(mad) AC,B,F
T L=

1.5

I QOIQQ—S.OV

7500 8000
MJD — 2450000

A -
7000



